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“1.Jiorapupmmiyeckue

Haiijure KopeHb ypaBHCHHS log,(4—x)=7

Peruenmne.
[TocnenoBareibHO MOMYyYaAEM:

log,(4-x)=7T4-x=2"4-x=128x=-124.

OtBeT: —124.



orapupopmMmmieckue

HaiinuTe KopeHb ypaBHECHUS lqu (5 —x)= log <3
Pemenue. o | .
[locnenoBareabHO MOIYYaAEM:

logs(S5—x)=logsd & S5—x=3x=2

OTBerT: 2.



orapupopmMmmieckue

Halinnre KOpeHb ypaBHEHUS logs(5 — x) = 2logs3
Pemenue. i |
[TocnemoBarenbHO MOTyYaeM:

logs(5 —x)=2logs3 &5 —-x=3

OtBeT: 4.



orapupomMmmnieckue

JaBRC Vi e
NMPAKTUYECKAA
PABOTA
Haiinure KOpeHb ypaBHEHHUS
log, (4 —x) =7 logy (4~ x) =4
log,(4 — x) = 2log,5 log,(11 —x) = 4log, 5



orapupomMmmnieckue

Orof=t 170, —
[MPAKTUYHECKAA
PABOTA
Havaure KopeHb ypaBHEHUS
logg(3 —x) =2 logy(7 —x) =6
log;(14 — x) = log,5 logy (11 —x) =log, 3

logs(1+ x)
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orapupomMmmnieckue
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[MPAKTUHECKAA
PABOTA

Harinrre kxopeHb ypaBHEHUS

log,(8 — 5x) = 2log,3 log,(18 — 6x) = 4log, 3

logs(5 — x) = logs3 log,(16 +x) = log,3

logs (4 — x) =2 log,(4 —x) =5



orapupomMmmnieckue

OOMALLUHEE
SAO0AHUE




